

Pay Estimate Created Date: October 1, 2021

\$1,289,499.51 \$0.00 \$1,289,499.51	Original Contract Amount Net Change Order Amount Current Contract Amount		t September September 3	Period Start Period End		210122-B03 • Asphalt Stone, C	Contract ID Prime Contractor	lumber	Progress Estimate N 6			
By User									Approval Date			
viers	t the Project Office Level by	Generated and Approved (and should be considered Draft) at the Project Office Lev										
viers	Resident Engineer Level by	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Leve										
ramses	Controllers Office Level by	Reviewed and Approved at the Central Office Controllers Office Leve										
t Complete	of Current Contract Amoun	Original Completion Date Current Completion Date Actual Completion Date % of Current Contract Am										
	September 27, 2021 92.70%					1, 2021	October	1	October 1, 2021			
			Milestones			es	Informational Dat	Contract				
		or Contract	ones Exist for	No Milesto	tion Date	Current Complet	Completion Date	Original	Date Description			
									Acceptance Date			
						February 3, 2021	3, 2021	February	Awarded Date			
						January 22, 2021	2, 2021	January 2	Letting Date			
							2021	March 8, 2	Notice to Proceed Date			
						July 21, 2021	021	July 21, 2	Work Began Date			

Contract Total Pa	ay For Estimate No. 6				
		This Estimate	Previous	To Date	
210122-B03					
	Total Posted Items Pay	\$165,805.86	\$1,029,536.58	\$1,195,342.44	
	Gross Item Adjustments	\$0.00	(\$3,237.92)	(\$3,237.92)	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			\$1,026,298.66	\$1,192,104.52	
Contract Total Pa	yable This Estimate:	\$165,805.86			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount				
J2P3283	0030	4071005	TACK COAT	GAL	\$1.996	647.3	\$1,292.01				
	0040	4099905	MISC.SURFACE SEALING TREATMENT	C.SURFACE SEALING TREATMENT SQYD \$1.030 44,493							
	0050	4131000	MICROSURFACING, TYPE II	SQYD	\$2.740	21,577.6	\$59,122.62				
	0060	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	EA	\$750.000	2	\$1,500.00				
	0140	6161040	FLASHING ARROW PANEL	ASHING ARROW PANEL EA \$1,000.000 1							
	0180	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	EA	\$280.000	14	\$3,920.00				
	0190	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.210	141,176	\$29,646.96				
	0200	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.210	111,888	\$23,496.48				
Project J2F	23283 - Tot	al					\$165,805.86				
Overall - Total											

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J2P3283	0040	MISC.	Material			-171,699.8	\$1.03	(\$176,850.79)
	0040	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user vierss overridding Payment Estimate Exception 2 on	171,699.8	\$1.03	\$176,850.79



Pay Estimate Created Date: October 1, 2021

Progr			Contract ID Prime Cont		22-B03 alt Stone, Co.	Pay Period End September 30, 2021 Net	inal Contract Change Order rent Contract	Amount \$	1,289,499.51 0.00 1,289,499.51
Project Number	Line No.	Item Descrip	otion	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J2P3283						the current Payment Estimate.			
	0050	MICROSURFACIN	IG, TYPE II	Material			-310,995.44	\$2.74	(\$852,127.5
	0050	MICROSURFACIN	IG, TYPE II	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user vierss overridding Payment Estimate Exception 3 on the current Payment Estimate.		\$2.74	\$852,127.5
	0080		MISC.	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 12 on the current Payment Estimate. Material Insufficiency Quantity 198.000; Overrun Quantity Balance 85.00.		\$262.43	\$22,306.55
	0080 MISC		MISC.	Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).		\$262.43	(\$22,306.55
	0080		MISC.	Material			-198	\$262.43	(\$51,961.14
	0080 MISC.		MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user vierss overridding Payment Estimate Exception 4 on the current Payment Estimate.		\$262.43	\$51,961.14
	0180			Material			-14	\$280.00	(\$3,920.00
	0180		,	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user vierss overridding Payment Estimate Exception 5 on the current Payment Estimate.		\$280.00	\$3,920.00
	0190	6 IN. WHITE HI WATERBORNE P MARKING PAIN	AVEMENT	Material			-141,176	\$0.21	(\$29,646.96
	0190 6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS		Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user vierss overridding Payment Estimate Exception 6 on the current Payment Estimate.		\$0.21	\$29,646.96	
	0200	6 IN. YELLOW HI WATERBORNE P MARKING PAIN	AVEMENT	Material			-111,888	\$0.21	(\$23,496.48
	0200	6 IN. YELLOW HI WATERBORNE P. MARKING PAIN	AVEMENT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user vierss overridding Payment Estimate Exception 9 on the current Payment Estimate.		\$0.21	\$23,496.48
Total									\$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	ı					
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work						
J2P3283	3283 FAF 63-4(85) Pavement improvements 63 MACON from 1.2 miles south of Rte. KK to 0.5 mile north of Rte. DD in Macon County near Macon											
Totals by .	Job Numb	ers										
J2P3283		ed Item Pay s Item Adjustme		Item Pay	This Estimate \$165,805.86 \$0.00 \$165,805.86	Previous \$1,029,536.58 (\$3,237.92) \$1,026,298.66	To Date \$1,195,342.44 (\$3,237.92) \$1,192,104.52					
	Liqui	ntive icentive idated Damages r Contract Adjus			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J2P3283, Item 4071005, Project Item Line Number 0030, Material Set 407100596, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	vierss	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3283, Item 4099905, Project Item Line Number 0040, Material Set 409990596, Material 3409SFSLTM - Surface Sealing Treatment (JSP), Acceptance Action Generic 3409SFSLTM is insufficient.	No Remark was entered by Engineer	vierss	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3283, Item 4131000, Project Item Line Number 0050, Material Set 413100096, Material 0413MST2 - Micro-Surfacing Mix Type 2 One Pass, Acceptance Action Generic AspMicroSurfacing is insufficient.	No Remark was entered by Engineer	vierss	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3283, Item 6139910, Project Item Line Number 0080, Material Set 6139910, Material 0403SP125CLG - Superpave 12.5 mm, Des C 80 Gyros, Acceptance Action Generic AspHigh is insufficient.	No Remark was entered by Engineer	vierss	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3283, Item 6200021, Project Item Line Number 0180, Material Set 620002196, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indcat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient.	No Remark was entered by Engineer	vierss	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3283, Item 6205902A, Project Item Line Number 0190, Material Set 6205902A96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	No Remark was entered by Engineer	vierss	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3283, Item 6205902A, Project Item Line Number 0190, Material Set 6205902A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	No Remark was entered by Engineer	vierss	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3283, Item 6205903A, Project Item Line Number 0200, Material Set 6205903A96, Material 1048PMTRHBWBYL - Marking Paint Acrylic Watr HiBld Yellow, Acceptance Action Generic 1048PMTRHBWBYL is insufficient.	No Remark was entered by Engineer	vierss	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3283, Item 6205903A, Project Item Line Number 0200, Material Set 6205903A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	No Remark was entered by Engineer	vierss	Overridden
Estimate Exception Type: Item Overrun: Contract 210122-B03, Contract Project J2P3283, Project Item Line Number 0070, Contract Line Item Number 0070, Item 6133021, Minor Item.	No Remark was entered by Engineer	vierss	Acknowledged
Estimate Exception Type: Item Overrun: Contract 210122-B03, Contract Project J2P3283, Project Item Line Number 0220, Contract Line Item Number 0220, Item 6207002, Minor Item.	No Remark was entered by Engineer	vierss	Acknowledged
Estimate Exception Type: Item Overrun: Contract 210122-B03, Contract Project J2P3283, Project Item Line Number 0080, Contract Line Item Number 0080, Item 6139910, Minor Item.	No Remark was entered by Engineer	vierss	Overridden



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / A	All Items /	All Estimates	(Including this	s Estimate)
----------------	-------------	---------------	-----------------	-------------

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repor generated date)
10122-B03	J2P3283	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$4,360.00	\$4,360.0
		0001	0020	2153000	SHAPING SLOPES, CLASS III	18.00	0.00	18.00	100F	18.00	\$848.00	\$15,264.0
		0001	0030	4071005	TACK COAT	9,334.00	0.00	9,334.00	GAL	9,334.00	\$2.00	\$18,630.6
		0001	0040	4099905	MISC.SURFACE SEALING TREATMENT	171,700.00	0.00	171,700.00	SQYD	171,700.00	\$1.03	\$176,851.0
		0001	0050	4131000	MICROSURFACING, TYPE II	311,116.00	0.00	311,116.00	SQYD	310,995.44	\$2.74	\$852,127.5
		0001	0060	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$750.00	\$1,500.0
		0001	0070 6133021 REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR 1,052.00 0.00 1,052.00 SQYD 1,449.00 \$9.26								\$13,422.0	
					MISC.FURNISHING AND PLACING HIGH TENSILE STRENGTH SYNTHETIC FIBER ASPHALTIC PAVEMENT MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR (SP125C PG 70-22)	113.00	0.00	113.00	TONS	198.00	\$262.43	\$51,961.1
		0001	0090	6161005	CONSTRUCTION SIGNS	1,637.00	0.00	1,637.00	SQFT	964.00	\$7.00	\$6,748.0
		0001	0100	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	0.00	\$35.00	\$0.0
		0001	0110	6161009	FLAG ASSEMBLY	6.00	0.00	6.00	EA	0.00	\$15.00	\$0.0
										\$18.00	\$2,520.	
	0001 0130 6161033 DIRECTIONAL INDICATOR BARRICADE 38.00 0.00							38.00	EA	19.00	\$75.00	\$1,425.0
		0001	0140	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$1,000.00	\$2,000.
		0001	0150	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$2,800.00	\$5,600.0
		0001	0160	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	12.00	0.00	12.00	EA	0.00	\$850.00	\$0.0
		0001	0170	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$39,100.00	\$0.
		0001	0180	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	14.00	0.00	14.00	EA	14.00	\$280.00	\$3,920.
		0001	0190	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	141,206.00	0.00	141,206.00	LF	141,176.00	\$0.21	\$29,646.9
		0001	0200	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	111,888.00	0.00	111,888.00	LF	111,888.00	\$0.21	\$23,496.
		0001	0210	6206108A	8 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	126.00	0.00	126.00	LF	0.00	\$2.00	\$0.
		0001	0220	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	14.00	0.00	14.00	EA	23.00	\$75.00	\$1,725.
		0010	0230	6061060	MGS GUARDRAIL	1,550.00	0.00	1,550.00	LF	1,550.00	\$21.92	\$33,976.
		0010	0240	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	2.00	0.00	2.00	EA	2.00	\$2,750.00	\$5,500.
	0010 0250 6061080 MGS END ANCHOR 1.00 0.00 1.00 EA					1.00	\$1,100.00	\$1,100.				
		0010	0260	6063014	33014 TYPE A CRASHWORTHY END TERMINAL (MASH) 3.00 0.00 3.00 EA 3.00 \$2,650.00							\$7,950.
	Project J	2P3283 - To	otal Value	Posted to D	Date as of Report Generated Date							\$1,259,723.
122-B03 Ove	erall - Total	Value Post	ted to Da	te as of Repo	ort Generated Date							\$1,259,723



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail. location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/Log Mile	Offset/ Distance	To Station/Log Mile	Offset/ Distance	Comments
0030	4071005	TACK COAT	9/20/21	9/21/21	647.30	GAL		293.771		296.836		
			9/22/21	10/1/21	4.10	GAL		280.146/36.9		296.836/41.175		This to adjust final quantity due to rounding errors
0040	4099905	MISC. SCRUB SEAL	8/11/21	9/28/21	44,493.00	SQYD	Started at Log Mile 280.146 on the N.B.L. right shoulder and went to log mile 287.730	280.146 rt. shoulder		287.730 rt.shoulder		
			9/22/21	10/1/21	0.20	SQYD		280.146/36.9		296.836/41.175		adjusted quantity due to rounding
0050	4131000	MICROSURFACING, TYPE II	9/20/21	9/21/21	21,577.60	SQYD		293.771		296.836		
0060	6123000A	TRUCK OR TRAILER MOUNTED ATTEN (TMA)	9/24/21	9/30/21	2.00	EA		NBL 280.146/SBL 36.5		NBL 297.025/SBL 41.3		
0140	6161040	FLASHING ARROW PANEL	9/24/21	9/30/21	1.00	EA		NBL 280.146/SBL 36.9		NBL 296.836/SBL 41.1		Used in moving operation work zone.
0180	6200021	PREF THERMO PVMT MARK, LT/RT ARROW	9/24/21	9/30/21	14.00	EA	Both S.B.L. and N.B.L. turning lanes as shown on plans.	NBL 280.146/SBL 36.9		NBL 296.836/SBL 41.1		Material place on Sept. 10 and Sept. 24
0190	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAINT	9/24/21	9/30/21	141,176.00	LF	both N.B.L. and S.B.L. right Edgelines, Intermittent centerline, Dotted Extension line(Median) and Solid Lane lines(Median)	NBL 280.146/SBL 36.9		NBL 296.836/SBL 41.1		Material placed on Sept. 10 in the S.B.L.'s and on Sept. 24 in the N.B.L.'s
0200	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAINT	9/24/21	9/30/21	111,888.00	LF	Both S.B.L. and N.B.L. Solid Yellow- Left Edgelines and Dotted Extension Lines.	NBL 280.146/SBL 36.9		NBL 296.836/SBL 41.1		Material placed on Sept. 10 in S.B.L.'s and on Sept. 24 in N.B.L.'s

The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

Contract ID:190621-F01

Image: state Type	Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks							
Image: Part of the state of the st																	
$ \begin{array}{ $	J2P3283	0040	MISC. SCRUB SEAL	Material		3		SYSTEM	\$131,023.00	Estimate Item Adjustment (0002) due to user vierss overridding Payment							
Normal Problem Number of the second sec						3		SYSTEM	(\$131,023.00)								
						4		SYSTEM	\$131,023.00	Estimate Item Adjustment (0005) due to user vierss overridding Payment							
Normal Problem Normal Problem Normal Properties Normal Properties 0 2021 5/07164 5/07164 5/07164 5/07164 0 0 0 0 17.07164 5/07164<						4		SYSTEM	(\$131,023.00)								
						5		SYSTEM	\$131,023.00	Estimate Item Adjustment (0004) due to user vierss overridding Payment							
Image: Provide the state of the st						5		SYSTEM	(\$131,023.00)								
Image: Provide the second se						6	Oct 1,	SYSTEM	\$176,850.79	Estimate Item Adjustment (0007) due to user vierss overridding Payment							
Image: market is the image:						6		SYSTEM	(\$176,850.79)	Estimate Exception 2 on the current Payment Estimate.							
040 - Total U 50.00 0000 MICROSURFACING, TYPE II Material Payment, Estimate Exception 3 on the current Payment Estimate Estimate Exception 3 on the current Payment Estimate. 4 Sep 1, 2021 SYSTEM S216.977.74 This adjustment offsets the original system-generated Material Payment Estimate Exception 3 on the current Payment Estimate. 6 Sep 20, 2021 SYSTEM S700.007.72 This adjustment offsets the original system-generated Material Payment Estimate Exception 3 on the current Payment Estimate. 7 Sep 20, 2021 SYSTEM S700.007.72 This adjustment offsets the original system-generated Material Payment Estimate Exception 3 on the current Payment Estimate. 7 Ord 1, 2021 SYSTEM S852.127.51 This adjustment offsets the original system-generated Material Payment Estimate Exception 3 on the current Payment Estimate. 7 Total Ord 1, 2021 SYSTEM S852.127.51 7 Material - Total Sep 1, 2021 SYSTEM S852.127.51 7 Overun - Total Sep 1, 2021 SYSTEM S857.741 7 Overun - Total Sep 1, 2021 SYSTEM S18.61.141 7 Overun - Total Sep 20, 2021					- Total		2021		\$0.00								
0000 TYPE II 0000 MLERASURATION TYPE II 0000 Material TYPE II 0000 Material 0000 4 0 0000 Sep 1 0 0000 SYSTEN 0000 S216.970.71 0000 This adjustment offests the original system-generated Material Payment Estimate Exception 3 on the current Payment Estimate. 0000 0 0000 0 0000 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0				Material - To	otal				\$0.00								
TYPE II Verter I Sep 1		0040 -	Total						\$0.00								
is adjustment offsets the original system-generated Material Payment Estimate Exception 3 on the current Payment Estimate. is adjustment offsets the original system-generated Material Payment is adjustment (0005) due to user views overridding Payment issue to user views overridding Payment istimate issue to u		0050		Material		4		SYSTEM	\$216,970.74	Estimate Item Adjustment (0006) due to user vierss overridding Payment							
No No<						4		SYSTEM	(\$216,970.74)								
Nome Nome <th< td=""><td></td><td></td><td rowspan="2"></td><td></td><td></td><td>5</td><td></td><td>SYSTEM</td><td>\$730,008.72</td><td>Estimate Item Adjustment (0005) due to user vierss overridding Payment</td></th<>						5		SYSTEM	\$730,008.72	Estimate Item Adjustment (0005) due to user vierss overridding Payment							
Order Overrun - Total Overrun - Total System (\$3,977.41) 0050 - Total Overrun - Total (\$3,977.41) (\$3,977.41) 0070 - Total Overrun - Total (\$3,977.41) 0070 - Total (\$3,977.41) 0080 MISC. PAVEMENT REPAR Material - Total (\$3,977.41) 0080 MISC. PAVEMENT REPAR [\$4 Sep 1, 2021 SYSTEM (\$3,977.41) 0080 MISC. PAVEMENT REPAR [\$4 Sep 1, 2021 SYSTEM Sistem dem Adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate 10800 Lipatchee Lipatchee Lipatchee Lipatche Lipatchee Lipatchee Lipatch						5		SYSTEM	(\$730,008.72)								
Image: Control I Control I Solution I Soluti Solution I Soluti											6		SYSTEM	\$852,127.51	Estimate Item Adjustment (0008) due to user vierss overridding Payment		
Material - Total Material - Total Sep 1, 2021 SYSTEM (§3,677.41) 0070 CLASS CARTIAL DEFTH PAYT REPAIR Overrun - Total Sep 1, 2021 SYSTEM (§3,677.41) 0verrun - Total Overrun - Total Sep 1, 2021 SYSTEM (§3,677.41) 0070 CLASS CARTIAL DEFTH PAYT REPAIR Overrun - Total (§3,677.41) 0verrun - Total Verrun - Total (§3,677.41) 0080 MISC. PAVEMENT REPAIR Material § Sep 1, 2021 SYSTEM \$\$1,961.14] This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user vierss overridding Payment Estimate Item Adjustment (0003) due to user viers overridding Payment Estimate Item Adjustment (0003) due to user viers overridding Payment Estimate Exception 4 on the current Payment Estimate. 5 Sep 20, 2021 SYSTEM (\$51,961.14] This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate. 6 Oct 1, 2021 SYSTEM (\$51,961.14] This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate. 6 Oct 1, 2021 SYSTEM (\$51,961.14] This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate.<																	
0050 - Total Second Second<					- Total				\$0.00								
0070 REMOVAL FOR CLASS C PARTIAL DEPTI PAYT REPAIR Overrun 4 Sep 1, 2021 SYSTEM (\$3,677.41) Overrun - Total Sep 1, SYSTEM 0080 MISC. PAVEMENT REPAIR A Sep 1, SYSTEM (S51,961.14) 5 Sep 20, SYSTEM S51,961.14 5 Sep 20, SYSTEM <td></td> <td></td> <td></td> <td>Material - To</td> <td>otal</td> <td></td> <td></td> <td></td> <td>\$0.00</td> <td></td>				Material - To	otal				\$0.00								
CLASS C PARTIAL DEPTH PAYR Overrun - Total (\$3,677.41) 070 - Total (\$3,677.41) 0080 MISC. PAVEMENT REPAIR Material A terial \$\$9,1, 2021 \$YSTEM \$\$1,961.14 2021 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment(0003) due to user vierss overridding Payment Estimate Item Adjustment (0003) due to user vierss overridding Payment Estimate Item Adjustment (0003) due to user vierss overridding Payment Estimate Item Adjustment (0003) due to user vierss overridding Payment Estimate Item Adjustment (0003) due to user vierss overridding Payment Estimate Item Adjustment (0003) due to user vierss overridding Payment Estimate Item Adjustment (0003) due to user vierss overridding Payment Estimate Item Adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user vierss overridding Payment Estimate Exception 4 on the current Payment Estimate. 6 Oct 1, 2021 \$YSTEM \$\$1,961.14 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user vierss overridding Payment Estimate Exception 4 on the current Payment Estimate. - Total • Oct 1, 2021 \$YSTEM \$\$1,961.14 0 • Oct 1, 2021 \$YSTEM \$\$1,961.14		0050 -	Total						\$0.00								
REPAIR Overrun - Total (\$3,677.4) 0070 - Total (\$3,677.4) 0070 - Total (\$3,677.4) 0080 MISC: PAVEMENT REPAIR Material Sep 1, 2021 SYSTEM \$51,961.14 This adjustment offsets the original system-generated Material Payment Estimate tem Adjustment (0003) due to user vierss overridding Payment Estimate tem Adjustment (0003) due to user vierss overridding Payment Estimate tem Adjustment (0003) due to user vierss overridding Payment Estimate tem Adjustment (0003) due to user vierss overridding Payment Estimate tem Adjustment (0003) due to user vierss overridding Payment Estimate tem Adjustment (0003) due to user vierss overridding Payment Estimate tem Adjustment (0003) due to user vierss overridding Payment Estimate tem Adjustment (0003) due to user vierss overridding Payment Estimate tem Adjustment (0003) due to user vierss overridding Payment Estimate tem Adjustment (0003) due to user vierss overridding Payment Estimate tem Adjustment (0003) due to user vierss overridding Payment Estimate tem Adjustment (0003) due to user vierss overridding Payment Estimate tem Adjustment (0003) due to user vierss overridding Payment Estimate tem Adjustment (0003) due to user vierss overridding Payment Estimate tem Adjustment (0003) due to user vierss overridding Payment Estimate tem Adjustment (0003) due to user vierss overridding Payment Estimate tem Adjustment (0003) due to user vierss overridding Payment Estimate tem Adjustment (0003) due to user vierss overridding Payment Estimate tem Adjustment (0003) due to user vierss overridding Payment Estimate tem Adjustment (0003) due to user vierss overridding Payment Estimate tem Adjustment (0003) due to user vierss overridding Payment Estimate tem Adjustement (00003) due to user vierss overridding Payment Es		0070	CLASS C PARTIAL	Overrun	Overrun	4		SYSTEM	(\$3,677.41)								
0070 - Total (\$3,677.41) 0080 MISC. PAVEMENT REPAIR Material 4 Sep 1, 2021 SYSTEM \$51,961.14 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user viers overridding Payment Estimate Exception 4 on the current Payment Estimate. 4 Sep 1, 2021 SYSTEM (\$51,961.14) This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user viers overridding Payment Estimate Item Adjustment (0003) due to user viers overridding Payment Estimate Item Adjustment (0003) due to user viers overridding Payment Estimate Exception 4 on the current Payment Estimate. 5 Sep 20, 2021 SYSTEM (\$51,961.14) 6 Oct 1, 2021 SYSTEM \$51,961.14 This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate. 6 Oct 1, 2021 SYSTEM \$51,961.14 Total Material I Payment Estimate Sep 20, SYSTEM 9 Oct 1, 2021 SYSTEM 6 Oct 1, 2021 SYSTEM \$51,961.14 Material I Payment Estimate Sep 20, SYSTEM VIENT <td< td=""><td></td><td></td><td></td><td></td><td>Overrun - T</td><td>otal</td><td></td><td></td><td>(\$3,677.41)</td><td></td></td<>					Overrun - T	otal			(\$3,677.41)								
0080 MISC. PAVEMENT REPAIR Material 4 Sep 1, 2021 SYSTEM \$51,961.14 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user vierss overridding Payment Estimate Exception 4 on the current Payment Estimate. 4 Sep 1, 2021 SYSTEM (\$51,961.14) This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate. 5 Sep 1, 2021 SYSTEM (\$51,961.14) This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user vierss overridding Payment Estimate Exception 4 on the current Payment Estimate. 5 Sep 20, 2021 SYSTEM (\$51,961.14) This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate. 6 Oct 1, 2021 SYSTEM (\$51,961.14) This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate. 6 Oct 1, 2021 SYSTEM (\$51,961.14) This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate. 6 Oct 1, 2021 SYSTEM (\$51,961.14) Stimate Exception 4 on the current Payment Estimate. 6 Oct 1, 2021 SYSTEM \$0.00 Stimate				Overrun - T	otal				(\$3,677.41)								
REPAIR REPAIR Image: Construction of the current Payment Estimate Estimate Item Adjustment (0003) due to user viers overridding Payment Estimate 4 Sep 1, 2021 SYSTEM (\$51,961.14) 5 Sep 20, 2021 SYSTEM \$51,961.14) 6 2021 SYSTEM (\$51,961.14) 6 Oct 1, 2021 SYSTEM \$51,961.14) 6 Oct 1, 2021 SYSTEM \$51,961.14) Estimate Item Adjustment (0003) due to user viers overridding Payment Estimate 6 Oct 1, 2021 SYSTEM \$51,961.14) Estimate Item Adjustment (0003) due to user viers overridding Payment Estimate 6 Oct 1, 2021 SYSTEM \$51,961.14) Estimate Item Adjustment (0003) due to user viers overridding Payment Estimate 6 Oct 1, 2021 SYSTEM \$51,961.14) Estimate Item Adjustment (0003) due to user viers overridding Payment Estimate Estimate Item Adjustment (0003) due to user viers overridding Payment Estimate 6 Oct 1, 2021 SYSTEM \$51,961.14) Estimate Item Adjustment (0003) due to user viers overridding Payment Estimate Image:		0070 -	Total						(\$3,677.41)								
Image: Problem in the state in the stat		0080		Material		4		SYSTEM	\$51,961.14	Estimate Item Adjustment (0003) due to user vierss overridding Payment							
Image: Second						4		SYSTEM	(\$51,961.14)								
- Total - Total \$2021 1 1 1 2021 2021 2021 1 1 1 6 0ct 1, 2021 2021 \$51,961.14 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user vierss overridding Payment Estimate - Total - Total \$9.00						5		SYSTEM	\$51,961.14	Estimate Item Adjustment (0003) due to user vierss overridding Payment							
6 Oct 1, 2021 SYSTEM \$51,961.14 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user vierss overridding Payment Estimate Exception 4 on the current Payment Estimate. - Total - Total \$9.00 Material - Total \$0.00						5		SYSTEM	(\$51,961.14)								
2021 \$0.00 - Total \$0.00 Material - Total \$0.00						6	Oct 1,	SYSTEM	\$51,961.14	Estimate Item Adjustment (0003) due to user vierss overridding Payment							
- Total \$0.00 Material - Total \$0.00					6	6		SYSTEM	(\$51,961.14)								
					- Total				\$0.00								
Other Item ACAD 4 Sep 2, vierss \$1,114.49 Doc Record Saved to eProjects			м	Material - To	otal												
				Other Item	ACAD	4	Sep 2,	vierss	\$1,114.49	Doc Record Saved to eProjects							



Line Item Adjustments by Estimate

Oct 5, 2021

Contract ID:190621-F01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2P3283	0080	MISC. PAVEMENT REPAIR	Adjustment			2021			
		NEFAIN		ACAD - Tota	al			\$1,114.49	
			Other Item /	Adjustment -	Total			\$1,114.49	
			Overrun	Overrun	4	Sep 1, 2021	SYSTEM	\$22,306.55	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 6 on the current Payment Estimate. Material Insufficiency Quantity 198.000; Overrun Quantity Balance 85.00.
					4	Sep 1, 2021	SYSTEM	(\$22,306.55)	
					5	Sep 20, 2021	SYSTEM	(\$22,306.55)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					5	Sep 20, 2021	SYSTEM	\$22,306.55	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 5 on the current Payment Estimate. Material Insufficiency Quantity 198.000; Overrun Quantity Balance 85.00.
					6	Oct 1, 2021	SYSTEM	(\$22,306.55)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					6	Oct 1, 2021	SYSTEM	\$22,306.55	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 12 on the current Payment Estimate. Material Insufficiency Quantity 198.000; Overrun Quantity Balance 85.00.
				Overrun - T	otal			\$0.00	
			Overrun - T	otal				\$0.00	
	0080 -	Total						\$1,114.49	
	0180	PREF THERMO PVMT MARK, LT/RT ARROW	Material		6	Oct 1, 2021	SYSTEM	\$3,920.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user vierss overridding Payment Estimate Exception 5 on the current Payment Estimate.
					6	Oct 1, 2021	SYSTEM	(\$3,920.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0180 -	Total						\$0.00	
	0190	6 IN. WHITE HIGH BUILD WATERBORNE PAINT	Material		6	Oct 1, 2021	SYSTEM	\$29,646.96	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user vierss overridding Payment Estimate Exception 6 on the current Payment Estimate.
		PAINT			6	Oct 1, 2021	SYSTEM	(\$29,646.96)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0190 -	Total						\$0.00	
	0200	6 IN. YELLOW HIGH BUILD WATERBORNE	Material		6	Oct 1, 2021	SYSTEM	\$23,496.48	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user vierss overridding Payment Estimate Exception 9 on the current Payment Estimate.
		PAINT			6	Oct 1, 2021	SYSTEM	(\$23,496.48)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0200 -	Total						\$0.00	
	0220	PAVEMENT MARKING REMOVAL	Overrun	Overrun	3	Aug 17, 2021	SYSTEM	(\$675.00)	
		(SYMBOLS)	(SYMBOLS) Overrun - Total					(\$675.00)	
			Overrun - T	otal				(\$675.00)	
	0220 -	Total						(\$675.00)	
J2P3283 -	Total							(\$3,237.92)	
Overall -	Total							(\$3,237.92)	